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~ Percentage Change

Percentage Increase & Decrease

e Always treat the original quantity as 100%

e When a quantity has been increased by a given percentage, the outcome is
larger than the original.

e So if a quantity has been increased by 15%, it becomes 100% + 15% = 115%
of the original amount.

e Your Casio calculator has a % button, above the[ﬂbutton. So to increase
£120 by 15% you would type:

% rm\l'(ylfw loo +17 = WT%
nox Nty = £33

e When a quantity has been decreased by a given percentage, the outcome is
smaller than the original.

e So if a quantity has been decreased by 12%, it becomes 100% - 12% = 88%
of the original amount.

L

e So to decrease 245kg by 12% you would type:
% mdbiplo- 100 - 12 = €57

HS x §%¥°L = 215+6 ka
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Intermediate Tier Numeracy PPQs

1. (a)

You will be assessed on the quality of your organisation,
communication and accuracy in writing in this part of the
guestion.

Gemma bought a tablet last year for £240.
She sold it to a friend after a year for 35% less than she paid for it.

She sees a new tablet on sale for £365 with a special offer of “20% off.
Gemma decides to use the money she has from selling her oldTablet towards
buying this new one.

How much extra will Gemma have to pay towards the new tablet using the
special offer?

You must show all your working (% sisil kp (uk : l 0O ‘3),,: 6)’% ) (8]

Mor\u’ s\\n_azl'/) Fﬂ)"‘ 5‘-‘“’\] = 94 xéf%s flié

(% Malbiplar = 100 - 2= 56%)

M"““[ s\*maofw l’“»u' = WS x §6% < £292
S Qo bu-M ook o gk 2972 - 176 = 1‘1'}5

(@

Jane and Tomos own a sandwich business.

They decide to price sandwiches individually each moming.
At 3 p.m. any unsold sandwiches are reduced by 45%.
Any sandwiches still unsoid by 4:30p.m. are reduced by a further 20%.

Jane says

//;Nhy not reduce sandwiches by 65% at 4:30p.m.:
2/" it works out the same.

Tomos disagrees with Jane.

Using muitipliers, show that Jane is incorrect. [4]

ﬂr'CUW o= cﬂppqu‘,jw W lll\corre.al' .
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Reverse Percentages (Grade B)

At Intermediate Tier you need to look carefully at the information in a question
to see if you are being to find the increased/decreased value (Grade E/D) or
being asked to find the original amount following an increase/decrease

Once this has been spotted, the solution is straightforward using the reverse
number machine idea:

¢ In a sale, a pair of jeans has been reduced by 20%. If the sale price was
£64, how much were the jeans to buy before the sale?

% mlbiylir = 1D ~20 - §0%.
oriqid Cok P Wp""“
A
b k, ~§o% "—"+——"Z‘L)
5 0/L‘7M ct= (b= §0Y, = 4¢0

15 nev
¢ Following a_3% pay rise, Sally was earning £46 350 pa. How much was she

earning before the increase?
S

‘ MuUctp\»‘- £ 0 = l0}u/o

roa il m— ol
dﬁ“)'““??' —\\ ﬂ b um(u sz) P

Q\ "T\D—S\}b <~ L[,L'BS' D

Lipvss = 10v, = fusoos
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Intermediate Tier Numeracy PPQ

3. (b} The television was reduced in the sale by 26% of its original price.
it cost Marta £710.40 in the sale.
What was the original price of the television? [2]
O__—ﬁ

Moo zul =40

Original price £ qéo S

Compound Percentages (Grade B)

e If a quantity is being repeatedly increased/decreased over time, for
example money earning annual interest payments in a bank account or a
car losing value as it gets older, then the

% multiplier is raised to the power of the time period

Sounds complicated, but it isn’t!

e A bank pays 1.8% pa interest on its savings accounts. If | pay £10 000
into the account, how much will it be worth in 8 years?

% mltiplin = (041§ < 10169

lu- <= 10002 %6117, [ 0000 Xﬂol'xﬁ)i
xlpl-¥ %
X[ol'xo/o :. 4”531104
xlot-§ '
xJlol-g %
)L[Ol'fya
x101-V 7
y- = xolf %
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e A new car loses 19% of its value during the first year and 5% per year
thereafter. Calculate the value of a car after 10 years that cost £30 000

when new.
e mdkiglui- 2100 -19% = YA
othr yoan - lOb- 5 < 9¢ */

70 ovo % (31"[‘,)',((45%)" = [§9315.06

Intermediate Tier Numeracy PPQs

4.

Carys decides to invest £380 in a savings account for 6 years.
The account pays a rate of 2-54% AER.

Will Carys have sufficient money in her savings account to be
able to buy a motor scooter costing £460 in 6 years' time?
You must show all your working and give a reason for your
answer.
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5. The price of softwood changes each year.
The price has increased by §% per annum for each of the last 5.years.
Before this, the price had decreased by 2% per annum.
Seven years ago the price of softwood was £34 per m2.

Calculate the current price of softwood.
Muls\'p\ui- Bl =100+t lobs
bl B2 5 100 - 25 954,

ELRY: ([oé‘(.)sx (qgf’z.)L - f;% 30

6.

Mali's scooter depreciated (decreased) in value by 24% in the first year.

In all further years, her scooter depreciated by 13% of its previous year's value.
She originally paid £850 for her scooter.

Calculate the value of Mali's scooter after 7 years.

[3]

[3]

After 7 years, the value of Mali's scooterwas £ .. . . . ..
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